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N.B. .— (@) Attempt All questions.
(i1) All questions carry equal marks.
(Zit) Wrong answers carry negative marking for multiple choice
questions.
(@) §& T Hedn
(i) EE YA WEE O TR
(iii) ~ SgUART LA heAl SUUAT ROMCHE U1 3R
MCQ
1. Multiple Choice Questions (1-10) : 10
sguEEl 9e (1-10) :
(1) There are ......c.cccccoviiivieniiiiannnins stages of Law of Variable.
One b) Two
Three (d)  Four
WT W ﬁ-q-qm .................................. W 3:"%?[.
Th ®) B
ikl d ¥R

2)

In the short-run average cost curve is .........ccccoceeevvcennnnnennnnnn. .

T shaped (b) U shaped
J shaped (d) 'V shaped

P.T.O.
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Which of the following is the correct statement ?

(@)  In perfect competition marginal revenue curve is downward side
to average revenue curve

(b) In perfect competition marginal revenue curve is upward side
to average curve

(c) In perfect competition marginal revenue curve and average
revenue curve is one

(d) In perfect competition average revenue curve is horizontal to
y-axis

Geftedeh! v faem aeR e ?

(@ g wodia foma sl osh Ol WKl Sk @eredl ded STl

@) Yo we fEE el s SER UK SRt aiel SN STl

(¢) YU w&q Toda s ook ST Wl Wikl a9k Tk ST

(d) YUl T8 AUET WIS 9% ‘A’ STeTe HHaT STEdl

In perfect competition buyer is/are ..........c..ccoccvvevvnnnennns .

(@ One (b)  Two

(c) Limited (d)  Large number
IR Gl s T

@ TH ®) <

(©) R d) A=A

Features of monopoly are ............c.ooovvvvvvvcceeeeeennn.. .

(a) One seller (b) No advertisement
(c) Price marker (d)  All of these
................................... —Ea- W W 311%?[

(@ W= fohdl (b) TR e

()  forAderat (d) A Td

The idea of group was produced by ........ccceoeeeeiiiiiiiiiiiiecnn. .
(a) Prof. Chamberlin (b) Knutwicksell

(c) Mrs. Joan Robinson (d)  Marshall
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(@) . S b) ECACETeY
) 9. S Ufe= (d) A

of distribution.
(@)  Perfect competition (b)  Monopoly

(c) Monopolistic competition  (d)  Short-run period

................................. % ﬁ.W .rg_q.iﬁ ScqTE Rl r{‘lo&idl‘a 11%'1_([ 3:"%

(@ g o (b)  HHSH

(c)  TeRIGRIgR Tl (d) — ACUHIS

According to Ricardo .........ccccccceiieiiiniiiniinns land is no rent land.
(@)  Original (b)  Marginal

(c) Superior (d)  None of these
RFTERT T oo e we fada e

(@)  ¥IYd ) faum

() G (d) @t AT

Wage rate is determined by ..............cocoeeiiiiiiiinnnn. .

(@) ~ Demand of labour

(b)  Equilibrium between demand and supply of labour
() Supply of labour

(d)  None of the above

q@?ﬂ a-{ g—l. “““““““““““““““““““ g% ﬁa-i-ﬁ_d _‘&?IT‘?[.
(@) = AWl
(b)  HETE AN § YRacdT™ dded
(©) P EICIILCE|
(d) =TT ARl
Which of the following motive is affected by the rate of Interest ?
(@) Transaction Motive (b)  Precautionary Motive
(c) Speculative Motive (d)  All of these
P.T.O.
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Theory
2. Explain the marginal productivity theory of distribution. 10
faaRomen fama Saeewaer faga T &
Or
(feram)

Explain the modern theory of wages.

TS ey fHgia T 6.
3. Explain the law of returns to scale. 10
JHUT Harl I T A

Or
(fenam)
Explain the revenue curves under perfect competition and monopoly.
qui Yl STl FeRiGidial 3ca=1 ok ¥ .
4, Write short notes on (any fwo) : 10

() Selling cost

(1) Perfect competition
(zit) ~ Price discrimination
(tv)  Group equilibrium.

e four faer (S @)

@)  fo=t =
Gi) 9o T
(i) I 9
(v) ~ IE Hge.
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